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1)  Consider the following statements and select your answer :
Statement : Municipal Commissioner in Maharashtra is appointed from I.A.S. Cadre only.
Reason : To maintain uniformity in the responsibility of the Municipal Executive.
Answer options :
1) Statement is correct but reason is incorrect 2) Statement is incorrect but reason is correct
3) Both are correct 4) Both are incorrect
2)  Generally when authority is delegated .........
1) Responsibility of delegating authority come to an end.
2) Responsibility of delegating authority is temporarily transferred.
3) Responsibility can not be delegated.
4) Responsibility ceases to exist.
3) Math List - I with List - IT and select your answer using the codes given below :
List-1 List-11
a) Municipal Commissioner 1) State Service
b) Chief Officer i1) Municipal Service
c) Health Officer ii1) Special Cadre
iv) Central Service
Answer options :
1) a-iv, b-iii, c-ii 2) a-ii, b-i, ¢c-iv 3) a-iii, b-iv, c-ii 4) a-i, b-iii, c-ii
4)  In which method of training decision-making skill can be developed ?
1) On the job training 2) Class-room training 3) Conference 4) Case-study
5)  Consider the following statements and select your answer :
Assertion : Accounts and not audit is the instrument of legislative control.
Reason : Audit is a part of accounts
Answer options :
1) Assertion is correct but reason is incorrect
2) Assertion is incorrect but reason is correct
3) Both are correct
4) Both are incorrect
6) Essential requirement of Local Self-Government is .........

1) Defined local area 2) Defined local population
3) Politically elected body 4) Enough financial resources.
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7)  Running of bus transport service pool, stadium, public auditorium etc. are ............. functions of
Municipal Corporations.
1) Transitory 2) Delegated 3) Non-mandatory 4) Mandatory

8)  Math the following pairs correctly :

a) 74th Amendment of the Constitution 1) Conduct of Municipal Elections

b) Consolidated Fund of the State i1) Twelth Schedule

c) State Election Commission ii1) Supplements the sources of Municipal
Corporation

d) Audit of the Municipal Corporation iv) Provisions of the State Legislature

Answer options :
1) a-i, b-ii, c-iii, d-iv ~ 2) a-iii, b-i, ¢c-iv, d-ii ~ 3) a-ii, b-iii, ¢-1, d-iv 4) a-iv, b-ii, c-1, d-iii

9) Consider :
Assertion (A) : In the delegation no Chief Officer can be allowed to delegated all his authority.
Reason (R) : That would make him powerful
Now select your answer :
1) Ais correct and R is correct reason of A
2) A is correct but R is not the correct reason of A
3) Both A and R are true
4) Both A and R are false

10) Consider :
a) Span of control means number of subordinates an officer can effectively supervise.
b) There is limit to span of control
c¢) The span of control is related so span of attention.
d) Span of control varies with function and personality.
Of these statements :
1) (a) alone is correct 2) (a) and (b) are correct
3) (a), (b) and (c) are correct 4) All are correct

11) The process of supervision is concerned with :
1) Planning 2) Organising 3) Directing 4) Controlling

12) Point out the correct match :
1) Grievance - Upward Communication 2) Reports - Downward Communication
3) Lectures - Written Communication 4) Manuals - Oral Communication

13) Which is the last step in the control process ?
1) Measuring performance 2) Comparing performance with standard
3) Correcting deviations 4) Determining standards
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Data Processing involves ........

1) Classifying and sorting

2) Ouly classifying

3) Classifying, sorting, calculating and summarising
4) Classifying, sorting and calculating

15)

Mark the correct statement :

1) Data and information are one and the same

2) Information is raw material and data is a finished product
3) Data is always in numerical form

4) Data is raw material and information a finished product

16)

A set of instructions used and modified according to the needs of the user, is called as:
1) Package 2) Software 3) Programme 4) Command

17)

A set of instructions to carry out the command is called as ........
1) Package 2) Programme 3) Software 4) Human ware

18)

Ability to exert influence is known as ........
1) Strength 2) Power 3) Authority 4) Position

19)

The development administration is concerned with..........
a) Administration for development

b) Growth of administration itself.

c¢) Growth of administration in terms os strategies

d) Socio-economic transformation

Answer options :

1) (a) alone is correct 2) (a) & (b) are correct
3) (a), (c¢) & (d) are correct 4) All are correct
20) Identify the characteristics of a Computer in the following :
a) Speed, accuracy and reliability b) Space, cost and economy
c¢) Diligence and versatility d) Independent thinking function
Answer options :
1) (a) is correct 2) (a) & (b) are correct
3) (a), (b) & (c) are correct 4) All are correct
21) Whoisresponsible for planning ?

1) Head of the department 2) Highest superior authority
3) President of the organisation 4) Clerical employees
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A project from financial angle information to judge its viability :

1) Cost of project and profitability

2) Means of financing and projected financial conditions and flows
3) 1 and 2 jointly 4) Name of the above

23)

What is expected from the Administrator to become an effective leader ?
1) He must analyse the sources himself.

2) He should consider the responses from the subordinates

3) He must follow the instructions from superiors

4) he must analyse forces within him and among subordinates.

24)

What should a leader do ?

1) give priority to gaining the understanding and confidence of the Group Members.
2) Should stress on situational and inter-actional factors

3) Consider the environmental factors of subordinates

4) Perform the functions effectively.

25)

Point out the correct answer.

1) Self respect is satisfied by shelter.

2) Informal organisation satisfies the need for love

3) Promotional opportunity satisfies the need for love
4) Safety and security is satisfied by pension

26)

Point out the function performed by an administrator :
1) Recruitment and selection of workers 2) Performance appraisal
3) Determination of wage policy 4) Job evaluation

27)

State the correct math from those given below :
1) Decision to mechanise office - a strategy

2) Step to meet competition - a method

3) Determination of sales targets - a policy

4) Anotice, "No Smoking', inside office - a Rule

28)

Choose the principle of organisation which you consider as wrong :
1) Division of work 2) Centralisation of all authority
3) Span of control 4) Flexibility

29)

Point out the wrong statement. A committee organisation facilitates :
1) Quick decision-making

2) Even distribution of authority and responsibility

3) Training ground for executives

4) Organisational cohesiveness
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30) State the correct answer. Written directives are more effective because :
1) They are more accurate
2) They are flexible
3) The strengthen superior-subordinate relations
4) They save time and cost
31) Inorder to be acceptable, a psychological test must have the reliability of :
1) 0.50 and above 2)0.60 and above 3) 0.80 and above 4) 1.00
32) Inorder to serve as an excellent motivator, promotions should be given on the basis of:
1) Seniormost employee in the present job
2) Best potentials for the higher level job
3) Regular, punctual and disciplined employee
4) Most willing to follow the instructions of the superior though not good in his work
33) Team spirit can be cultivated in a group by :
1) Encouraging group members to spend time together in 3-4 weeks.
2) Asking experts to give lectures to group members.
3) Asking group members to attend some learn building programme
4) None of the above
34) Math List-I correctly with List-II and select your answer using the codes given below :
List-1 List-11
A) Free and fair enquiry I) Training and Development
B) Role Playing IT) Labour Welfare
C) Principle of Timeliness IIT) Secondary Needs
D) Self-Esteem IV) Natural Justice
Answer options :
1) A-III, B-II, C-I, D-IV 2) A-1, B-1II, C-1V, D-II
3) A-IL, B-1, C-111, D-IV 4) A-1V, B-1, C-11, D-1II
35) Math List-A correctly with List-B

List-A List-B
I) Pre-determined course of action a) Planning
IT) Designing the structure of relationship
among jobs, personnel and physical factors b) Organising
III) Persuading the personnel to work effectively to achieve the goal c¢) Controlling
IV) Checking and regulating to confirm everything occurs in d) Directing

confirmity as desired
Answer options :
1) I-(b), I-(a), III-(d), IV-(c) 2) I-(a), II-(d) II-(b), IV-(c)
3) I-(c), lI-(d), III-(b), IV-(a) 4) I-(a), II-(b), II-(d), IV-(c)
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Consider the following statements :

a) Supply and demand of labour is considering during wage and salary administration in modern
Personnel Management.

b) The ability to pay and productivity are also considering during wage and salary administration
in modern Personnel Management.

c¢) Trade Unions bargaining power is a great influencing factor in considering wage and salary in
modern Personnel Management.

d) Job-description and job-evaluation are only the recognised factors in considering wage and
salary in modern Personnel Management.

Answer options :

1) (a) and (b) are correct 2) (a), (b) and (c) are correct

3) (d) only is correct 4) All are correct

37)

Consider the following statements :

Assertion (A) : It is only when individual goods eclipse original goals or when the equilibrium
between the capacity, the interest and the opportunities of an individual is destroyed that dishar-
mony is created, resulting in conflict and frustration.

Reason (R) : Faulty evaluations of persons and situations by executives leads to favoritism,
which generates indisciplined behavior.

Answer options :

1) (A) is true and (R) is false

2) Both (A) and (R) are true but (R) is NOT the correct reason for (A)

3) Both (A) and (R) are true and (R) is the correct reason for (A)

4) (A) is false and (R) is true

38)

Find out the best suitable method for measuring ""Morale" :
1) Assessment Methods

2) Graphic Rating Method

3) Attitude Survey

4) Initiative, commonsense and a general smartness

39)

The supply of labour fluctuates and is influenced by ..........
1) General population of the area

2) The attractiveness of benefits, services, wage rates

3) The reputation of the Company

4) Govt. policies and implementation of various laws.

40)

Out of the sources for forecasting the supply of candidates, is the internal candidates. The method
often used is "Skill inventory". The method of skill inventory can be used for .........

1) Only man-power planning 2) For promoting

3) For transferring 4) For planning, promoting and transferring
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41) Performance appraisal is the same as job-evaluation. The statement is ........
1) True 2) Partly True 3) False 4) Partly False
42) One of the principles of discipline is, effect discipline should be the same for all. This principle
of discipline is known as ..........
1) Advance warning  2) Universality 3) Consistency 4) Immediacy
43) Asan alternative to having employee training and development programme, we can hire trained
employees from companies have good development programme. But this......
1) is unrealistic 2)is unreliable and expensive
3) develops good relations with other companies 4) develops loyalty
44) Suppose you are a Manager of a factory, you want to motivate a newly appointed worker, what
type of motivation will be effective ?
1) Recognition 2) Job-security 3) Better language 4) Any other
45) A Supervisor must think about his subordinates as ........
1) A group 2) Isolated individuals
3) Individuals as members of a group 4) Any other thinking
46) There are some situations where the boss has to become less democratic and more :
1) Authoritative 2) Vindictive 3) Retributive 4) Passive
47) Match the pairs of the items in List-I and List-II using the codes given below :
List-1 List-I1T
A) Job Analysis I) Detailed and systematic study of job
B) Job Evaluation IT) Statement of the job facts
C) Job Description III) Statement of qualities required to perform job
D) Job Specification IV) Process of finding relative worth of job.
Answer options :
1) A-(D), B-(IV), C-(II), D-(IIT) 2) A-(IT), B-(I1I), C-(I), D-(IV)
3)A-(1V), B-(I), C-(IIT), D-(T) 4) A-(I1I), B-(I), C-(II), D-(IV)
48) Animportant principle to be followed which placing the personon ajobis.......
1) Qualified person on the difficult job 2) Sincere person on the regular job
3) Hard worker on a new job 4) Right person on the right job
49) Transfers on administrative grounds are made........

1) For development of organisation 2) For administrative convenience
3) For giving punishment to employees 4) For personal reasons
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Disciplinary System should be based on .......
1) The Conventions 2) The existing practices
3) The Management's view 4) The principle of Natural Justice

51)

A Budget always relates to :
1) Finance 2) Quantity 3) Period 4) Responsibility

52)

Which one of the following statements is true ?

1) Comparison of actual performance and budget, is necessary for budgetary control.
2) Budget cannot be without period.

3) Budget cannot be without finance.

4) Budget cannot be without manual.

53)

Select proper reason of the following, Finance is not a main constraint for Municipal Corpora-
tion.

1) Because it can raise taxes 2) Because it can raise loans

3) Because it can receive funds from Govt. 4) Because of all of the above

54)

Which will be result if there is not direct follow-up by means of accountability for variances ?
1) There can be better performance

2) There can be freedom to the officers

3) Objective of the budgetary control can not be achieved.

4) Budget will act as a motivating force.

55)

Complete the statement by selecting proper suffix.
When the situation changes, it becomes inevitable to ......
1) Revise the budget  2) Reduce the budget  3) Increase the budget 4) Provide more funds

56)

Which one of the following statements is NOT true ?

1) Budget lays down an objective for the organisation as a whole
2) Budget represents the judgement of the entire organisation

3) Budget can not ensure effective utilisation of resources

4) Budge helps in promoting a feeling of cost consciousness

57)

A budget having provision to calculate allowance and various expenses as per the actual levels of
attendance is called as :
1) Revised budget 2) Flexible budget 3) Master budget 4) Operating budget

58)

Which of the following is required to make a decision in a zero-based budget?
1) Previous budget 2) Component cost-benefit analysis
3) Current actual work done 4) Detailed description of each component
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59) Responsibility of financial planningison........
1) High level management 2) Board of Directors
3) Chief Manager 4) Middle Level Management
60) Choose the correct answer by considering the following statements.
A) Generally financial functions are centralized.
B) Economic decisions are difficult and the survival of the industry depends on it.
Answer options :
1) Both A and B are correct. B is the right reason for A.
2) Both A and B are correct, but B is not the correct cause of A.
3) Aisright but B is wrong.
4) Aiis wrong and B is right.
61) The work of the project officer is important because .......
1) He handles the definition and distinction of the project
2) He manages the project organizationally
3) It satisfies the government and the people
4) It achieves project objectives
62) Which method of reimbursement is best for construction and erection work?
1) Absolute contract 2) Expenses / abandoned more contracts
3) Pen rate contract 4) Mixed contract
63) Adjusting to uncertainty and danger means.......
1) Discover trends and coefficients
2) Carefully study the assumptions of the forecasting system
3) Projection with the help of numerical analysis method
4) Implement sensitivity analysis
64) Important investment tests included in the discounting test.....
1) Net present value 2) Cost benefit ratio
3) Internal rate of return 4) All of the above together
65) There are a number of ways to try out project risk, the best of which is the following ?
1) Mathematical analysis 2) Sensitivity analysis
3) Simulation and Decision Tree Analysis 4) Any one of the above
66) C.P.M. was introduced for the first time by ........

1) Allen and Hamilton 2) Peter Drucker
3) Kundz & Donald 4) James Kelly & Morgan Walker
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67) Suppose....
A) PERT is related to the events, while CPM is related to the activities.
B) CPM is related to the events, while PERT is related to the activities.
C) PERT and CPM both are related to the events.
D) CPM is related to the time and PERT is related to the price.
Answer options :
1) A alone is correct. 2) A and B are correct.
3) A, B and C are correct. 4) All are right.
68) Which of the following is required for project evaluation?
1) Detailed information of the project in the highest priority order
2) How much external help is needed.
3) Financial transactions of the project
4) Appropriate reporting system while the project is being implemented
69) The following listno. 1 and list no. 2. Find your answers using the following code points to match
correctly.
List-1 List-2
A) Agricultural projects 1) Irrigation
B) Animal Husbandry Project 2) Dairy Project
C) Cottage industries 3) Electrical machinery
D) Vocational training 4) Pottery business
Answer options :
1)A-4,B-1,C-3,D-2 2)A-1,B-2,C-4,D-3
3)A-3,B-1,C-4,D-2 4)A-2,B-1,C-3,D-4
70) Listno. 1 and list no. 2. Choose your answers to match.
List-1 List-2
A) Utilizing benefits 1) Instructions
B) Expenditure 2) Education and housing facilities
C) Supervision 3) Report presentation
D) Evaluation 4) Project and mechanism survey
Answer options :
1) A-4,B-2,C-3,D-1 2)A-3,B-2,C-4,D-1
3)A-2,B-4,C-1,D-3 4)A-1,B-3,C-2,D-4
71) Whatis health?
1) Absence of any kind of disease 2) Physical fitness
3) Mental strength 4) Physical, mental and social wellbeing
72) Slummeans........ territory.
1) Cement buildings 2) santies (zopadies)
3) Secondary houses 4) None of the above
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Housing subsidy scheme is applicable to urban poor because it .....
1) Housing encourages private investment

2) Housing does not encourage private investment

3) Helps the middle class to improve the quality of the house

4) Helps to re-sell the houses

74)

The post-1970 sewerage network and bus transport scheme were developed with the help of
major projects.
1)B.M.C. 2)B.M.R.D.A. 3) World Bank 4) MRTPA

75)

The slum improvement program was not getting money. The reason ...
1) So there was a fear that the huts would grow

2) The slum dwellers will keep sub-tenants

3) Huts are an essential part of the social structure

4) The corporation does not have enough money

76)

This matter is not related to slums.....
1) Weak building construction 2) Inadequate ventilation system
3) Low population density 4) Inadequate sanitation

77)

On slum problems ....... is an effective solution.
1) Legal restrictions 2) Improvement of livable conditions
3) Formation of proper ethnic composition  4) None of these

78)

The organization of slums depends on ..........
1) Nature of industrial expansion 2) Migration and ethnic composition
3) The nature of cities 4) All of the above

79)

During 1978-79, families from Scheduled Caste in Marathwada migrated to cities like Mumbai
because :
1) Famine 2) Social harassment 3) Attraction of cities 4) Flood

80)

Consider this statement - "Now-a-days people are migrating from Mumbai to their native places;
1) partly True 2) True 3) Partly False 4) False

81)

"Garibi Hatao' was declared as the main slogan in the country in ........
1) 1961 2) 1971 3) 1975 4) 1980

82)

"Urbanisation means industralisation'. What is the nature of this statement ?
1) Fully True 2) Partly True 3) False 4) Partly False
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83) According to 1991 Census, what was the total population of Greater Mumbai ?
1) 80 lakhs 2) 89 lakhs 3) 90 lakhs 4) 99 lakhs
84) What is the area of Mumbai Metropolice ?
1) 69 sq.km. 2) 190 sq.km. 3) 534 sq.km. 4) 603 sq.km.
85) The percentage of total population in Mumbai staying in slums is approximately .......... per cent.
115 2) 35 3)55 4) 75
86) Who said "a metropolis ultimately grows into a necropolis' ?
1) George Simmel 2) Lewis Mumford 3) Paul Hatt 4) Bergel
87) Urbanisation will be the most important issue "all over the world by 2000 A.D. and the largest
agglomerations willbe in ........
1) Africa 2) America 3) Australia 4) Developing countries
88) Which of the local self government bodies enjoy highest degree of local autonomy ?
1) Muncipal Councils 2) Municipal Corporations
3) Notified Area Authorities 4) Zilla Parishad
89) The Maharashtr Regional and Town Planning Act, 1966 was recommend in place of the Bombay
Town Planning Act, 1954 by the ......
1) C.D. Deshmukh Committee 2) Dr. Zakeria Committee
3) Vasantrao Naik Committee 4) Dr. D. R. Gadgil Committee
90) The Maharashtr Regional and Town Planning Act, 1966 has introduced first time in the State.........
1) Establishment of New City and Regional Planning
2) Backbay Reclamation Scheme
3) Non-shifting of Officers to the New City
4) Industrial Development of Thane City
91) State the purpose for which private property can be acquired by the State :
1) Charitable purpose 2) Religious purpose
3) Public purposes 4) General purposes
92) Freedom of Conscience gives the .......

1) Right to preach a religion

2) Right to convert others to one's religion

3) Right to impart religious instructions in government aided schools
4) Right to profess and practice a religion.
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93) The Article 19 (1) (d) provides for every citizen the right .......
1) To acquire and dispose off property 2) To move freely throughout the territory of India
3) To gather peacefully without arms. 4) To freedom of speech and expression

94) The arrested person shall be produced before the nearest Magistrate within ........
1) 48 hours 2) 28 hours 3) 24 hours 4) 12 hours

95) Right to Property forbids the government from ...
1) Acquiring private property without the authority of law.
2) Depriving a person of his property without just compensation
3) Nationalising private trade, industry or business.
4) Taking over the management of a sick industrial unit.

96) Consider:
Assertion (A) : No religious instructions shall be provided in any educational institution wholly
maintained out of State Funds.
Reason (R) : The Constitution provides freedom as to attendance at religious instructions or
religious worship in certain educational institutions.
Select your answer :
1) Both (A) and (R) are true and (R) is the correct explanation of (A)
2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
3) (A) is true but (R) is false 4) (A) is false but (R) is true

97) Whether an illegitimate minor child is entitled to claim maintenance from his parents ? Under
what provisions of Law ?
1) No, no legal provision 2) Yes, under natural justice
3) Yes, under Law of Maintenance 4) Yes, under S. 125 of the Cr. P.C.

98) When can a female heir claim the partition of dwelling house under Hindu Succession Act ?
1) When she gets married 2) When she becomes a widow
3) When male heirs choose to divide their respective shares 4) When she so desires

99) Consider :
If judgement is given in ignorance of Law :
a) The precedent is not binding on any court
b) The precedent is binding on lower courts
c¢) The precedent is not binding on the court giving such decision
d) The judgement is binding on all courts.
Of these statements :
1) (a) alone is correct 2) (a) and (b) are correct
3) (a), (b) and (c) are correct 4) All are correct
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100) Law takes cognizance of a wrong if .......

1) Itis a moral wrong 2) Itis amoral and social wrong
3) Itis only a social wrong 4) It is a wrong by rule of law
Hnn
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Answers

1)  Consider the following statements and select your answer :

Statement : Municipal Commissioner in Maharashtra is appointed from I.A.S. Cadre only.

Reason : To maintain uniformity in the responsibility of the Municipal Executive.

Answer options :

1) Statement is correct but reason is incorrect 2) Statement is incorrect but reason is correct

3) Both are correct 4) Both are incorrect
1-3 2-3 3-1 4-4 5-2 6-1 7-3 8-3 9-x 10-3
11-3 12-1 13-3 14-3 15-4 16-3 17-2 18-4 19-4 20-3
21-1 22-3 23-4 24-1 25-4 26-2 27-4 28-2 29-3 30-1
31-2 32-2 33-1 34-4 35-4 36-2 37-2 38-3 39-2 40-2
41-3 42-3 43-2 44-1 45-3 46-1 47-1 48-4 49-2 50-4
51-1 52-1 53-4 54-3 55-1 56-3 57-4 58-3 59-1 60-2
61-3 62-4 63-2 64-4 65-4 66-4 67-1 68-4 69-2 70-3
71-4 72-2 73-1 74-3 75-4 76-3 77-2 78-4 79-2 80-4
81-3 82-2 83-4 84-1 85-3 86-1 87-4 88-2 89-4 90-1
91-3 92-4 93-4 94-3 95-2 96-2 97-4 98-3 99-2 100-4
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